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Seventh Semester B.E. Degree Examination, Jan./Feb. 2023
Web Technology and Its Applications

Time: 3 hrs. Wlax, Marks: 1)

Note: Awswer any FIVE full questions, choosing ONE full question from eich module,

Maodule-1
Explain the standard HTML structure and syntas with an example 1o demonstrate the same
(10 Marks)
Iustrate with an example the different tvpes of selectors used in CS5. 110 Marks
OH
Explain the different types of [ist elements available in HTMLS with example. (10 Marks)
Iustrte with an example the three different levels of €53 {10 Marksh
Module-2
Explain the different table anribuies and wnte the HTML code for the following tahle
i 5 Fruit Juice =
- | Apple | Grape | Orange
 Lunch | M Ml
Dict [ Dinner | 01 | 00 | 0D
[ Breakfast | 00| 01 [
i VI Muirks)
D fierennate between GET and POST method. (85 Marks)
List and describe the vanous rypes of Text input contrals. 105 Marks)
OR
Explamn the vanous types uf positioning elements used m CS53 with example. (10 Marks)
Explain briefly the different 1vpes of spproaches S5 lavour i Murks)
Brieflv explain the imporance of Responsive Diesign (04 Marks)
Modulg-3

[usteate with on example the three different ways of Linking Javascapt to HTML 10 Marks)
Define Document Ohject Model. Explain its differem nodes along with its properiies and

methads P10 Alarks)
0K
List and explain the different 1ypes of events spevified by the W3 {10 Marks)
Hiustrate with an example 1o embed the PHP code nto the HTML oI Marks)
Nlusimme with a ssmple example for defining and calling funchons in PHP 104 Marks)
M 4
Mustrate with a simple code 10 Add and Delete the elements 1o the array in PHEP. (06 Marks)
List and describe the different types of super global array used in PHF (T Miarks)
List and explain the various built in functions of Army 1o PHP (7 Marks)
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OR
Explun the different file handling functions used m PHP
How constructors are defined in PHP? Explain with example
How exeeptions are handied in PHP?

Module-3
Explain the different ways of passing mformation 1o the server
Define cookie. Wnte a PHP code 1o read and write cookic.
Discuss briefly the HTMLS web storage.

OR
Define XSLT. Explan the XSLT workflow with o pear dingram
Define jQuery. List and describe the different forms selectors of the juery
Discuss the following :
1 JSON i) Web services
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(0% Viarksh
{0 Marksi
(e Aarks)

(E Alarks)
(s Marks)
{0 Muarksi

in¥ Marks)
(i Mirks)
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Seventh Semester B.E. Degree Examination, Jan./Feb. 2023
Advanced Computer Architectures

Time: 3 hrs. Max, Marks: 100

Note: Answer amy FIVE full questions, choosing ONE full guestion from cach module.

1 a What are Performance factors? How system attnbutes affeots on Performance {actors”

¥
=
-
. Explain. (i Marks)
E b.  Explon the Architecture of the Vector Super Computer, with duagram (7 Marks)
g ; ¢ Explain the Flynn's classification brieflv. (65 Varks)
e
-g * OR
A 5 2 o What is Data Dependence? Explain types of Data dependence with dependency graph
T= (0% Mlarks
%ﬁf b Explan Static Imerconnection Networks with examples 107 Marks)
E ¥ ¢, What are the metrics affscting the scalability of Computer Architecture” Explam. (5 Marks)
25
L Module-2
g g 3 a Wihdiagram, explain the basic architecture of the scalar compuiters, (08 Marks|
== b Distinguish Architectures between CISC and RISC computers. with neat diagram. (065 Marks)
E % ¢ What iz Super Scalar Architecture” Explam the superscalar RISC processor archiectune.
= T Marks)
53
= = OR
gé 4 a  With diagram, explam the hierarchy of the Memory [ echnology (05 Marka)
=& b. Explain the Inclision property and locality of reference along with s type in Memory
E a hierarchy. (07 Marks)
£E ¢ Explan TLB, Paging und Sezmentation (08 Marks)
= =
¢ £ |
2§ a  Whatis Bus Arbitration? Explain distnibuted Bus Arbitration. (07 Marks)
v é b. Explain Cache Memory medes with neat diagram (08 Marksi
g ¢ Explain Sequential Consislency Memaory Model (8 Marks)
53 - OR
£Ei 6 a Explan Speadop, EfMciency and through put of Linear Pipehine Processors (0% Marks)
E £ b, Consider the reservation table given below and determing the
E = : :
b . i} For bdden latencies ny Mal ml  Dtial eollision vector and
& v} Stat disgram for the poo linear pipeline. N7 Marks)
: [ IVIZI314]5]8]
1S1IX| | ESE B.LOE ASSOCIATIONS
|_g.i_.._. 3 S VACHANA PIT
E Lt i da nrvnad H DE HEH.IL,I.HHHL I,
22 .2 B j"ﬂLLEEEDFEu L, .
i_ﬁ » | i | | :.':_ ‘“Eﬁ-ﬂ—i:l_‘i:;
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What are Instruchion Pipeline Processors” Explain Pipeline design multiplication 8 - bt

arithemate, with diagram. 108 Marks)
Module-4
What are the Dynamic Intérconnect Networks™ Explain Routing in Dynamic OMEGA & < 3§
Interconnect Network usimg 2 = 2 switch modules (08 Marks)
What is Vector Processing”? Explain Vector schemes and memory with diagram. (07 Marks)
Write o note on Cross Bar Networks design Vs Multipont Memory, {05 Marks)
OR
Explain Hicrarchical Bus System with diagram. (05 Marks)
Explain four Context - Switching Poheies in Multiprocessing Modes. {08 Marks)
Fxplamn Connection Machine CM — 2 Architecture, with diagram. (07 Marks)
Module-5

efine Parallel Programming Model Explam shared and disinibuted paraliel models,

(I Marks)
FEaplain Concurrent OOP and Actor model i Object Oriented Paraliel Programming Model,

{05 Marks)
I xplan principles of Synchronization in Parallel Programming in Multiprocessing,

(U7 Marks)

OR _

With the help of nem dugram, explam Compuiaton phases in code generation m paralicl
compalal on (07 Marks)
Exphiin different language features of Parallel programmng. {08 Marks)
Write a note on Dependency Testing Brietly. {05 Marks)
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Seventh Semester B.E. Degree Examination, Jan./Feb. 2023
Machine Learning

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each modile.

Module-1
1 a2 Descnbethe ollowing problems with respect Lo tasks, performance and cxperience
1) Acheckers learming problem
i A handwriting recognition learning problem
i) A robot doving lcammg problem. 1M Marks
b List out any four applications of machine learning. 104 Marky)
c.  Find the maximally general hypothesis and maximally specific hvpothess takmg the enjoy
sport concept and training instances given in Table 1ic) and diseuss the advantages of the
algorithm 10 Miarks)
Table lig) g
Fxamples | Skv | A temp | Humidity | Wind | Water | Forecast | Enjoy sport
(N :‘E'_i_ﬂ_ﬂ._|_” Warm | Normal | Strong | Warm | Same | Yes
4 Sunny | Warm | High | Strong | Warm | Same Yes
3 | Ramy | Cold High  Swong  Warm | Change | No
P =i L Sunny | Warm High | Swong | Cool | Change | Yes
OR
2 o Explain the steps in designing leaming svstem in details (1 Marks)
b. Describe the find-s algorithm. Find the most specific hypothesis by toking data s2t given i
lable 2(b) and discuss the ssues with the algorithm (10 Marks
Table b)

_Example | Eyes | Nose | Head | Feolor | Hair | Smile |
I | Round | Trangle | Round | Purple | Yes | Yes |

I

2 | Square | Square | Square | Green | Yes | No |

3| Square | Trangle | Round | Yellaw | Yes | Yes
|4 | Round | Trangle | Round | Green | No | Nop |
[ s ﬂqnmm_l Square | Round | Yellow | Yes | Yes
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3 o Explan the concept of entropy and information gain,
Apply 1D3 algonthm for comstructing decision trée for the traming e shin
Table 3(b. Here the wrget atiribute is classification. Draw the complete decision tree.

i

b

=

L
i

o0 B

Module-2

 Tabledbl -
Day | Al [ A2 T A3 | Classification
|_ || True | Hot | High | No

2 | True | Hot | High N

3 [ False | Hot | High Y
4 | False [ Cool | Normal ]  Yes

5 | False | Cool | Normal Yes |
6 | True | Cool | High Mo

7 | True | Hoo | High Mo

& | True | Hot | Normal Yes |
-9 | False | Cool | Normal Yes
710 | False | Cool | High No |

Explasn Inductive bias in decision tree.

OR
Discuss Ui following issues in detail:
i Alertative measures for seleching attnbutes
il Incorporsting continuous valued attrbutes
i) Handling traming examples with missing attribute values.
Discuss the two approaches (o prevent over fitting the dato.
onstruch decision trees 1o represent the Boolean functions:
1 Ak&k—-B
iy A |[B&&C]
mi - ANORB
W) [A&&B| v [Caald]

M

{12 Marks}

(04 Muarks)

106 Marks)
(06 Marks)

(0% Marksh

What is Artificial Neural Network? Explam appropriate prohlem fir neural network learnmg

with s characlerisiics

(08 Murks)

Detine perception. Explun the concepl of single pereeption with neat dagram and represent

the Boolean function of ANL. OR usmg perceplion

0OR

112 Marks)

Wrile 2 note on: 1) Perceptron training rule 1) Gradient descent and el rube. (08 Marks)
Describe the multilayver neural metwork. Denve the hack propagatien rule considerng the

output bayer and traming ruke for output unit weights.

2of3
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Maodule-4
T o Define Bayesian theorem and cxplain Maximum A Posteriori (MAP) and Maximum
Likelihood { ML) hypothesis. (10 Marks)
Estimare conditional probabilities of each attributes !colour, type. ongm| for the stolen
classes: |yes, no| using the data given in the Table T(b) using these probabilities estnmare
the probability values for the new instance - (color = red, ype = SUV,
orngin = domestic), (L Marks
Table 7th)
{'nlnu_[j Type | Origin ?_fh_u_lcﬂ_
Red | Sports | Domestic | Yes
Red | Sports | Domestic | Mo
Red | Sports | Domeste | Yes
Yellow | Sports | Domestie | No
Yellow | Sports | Imported | Yes
Yellow | SUV | Imported | No
Yellow | SUNV | Imported | Yes
Yellow | SUIV | Domestie | No
Red AU Imponed | No
|_Red | Sports | tmported | Yes
OR
Explain the Naive Bayes classifier algorithm and Bayesian beliel networks with example.
(14 Maorks)
Explain EM algornthm i Marks)
Module-5
Define the fllowing terms
1) Sample error ) True emor i) Fxpected value 106 Marks)
Explain the K-nearest neighbor algorithm for approximating o discrete valued function
f: R" =V with pseado code (08 Narks)
Explain case based reasoning with example. {06 Marks)
(R
What is reinfisrcement learmimg and explam the reinforeemint karmng problem with neat
dmgram. i07 Marks)
Explam locally weighted linear regression FIFT Marks
Define ¢ - learning and write down - learning algorithm (0 Marks)
 EEE N

Yof3
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Seventh Semester Br E. I}egrm:« Examination, Jan./Feb. 2023
Artificial Intelligence and Machine Learning

USN | 18CS71

Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions, choosing ONE full guestion from cach module.

The water jug problem states ; You are provided with two jugs. one with 4 gallons of
capacity and the other one with 3 gallons of capacity. Neither have any measunng markers
on it How can we get exactly two gallons of water in 4 galion jug?

{1} Wnite down the prodoction niles for the above prablem.

(n) Wnile any one solution for the above problem. {08 Marks)
b. Explain Steepest Ascent Hill Chimbing techmque with an a]gunthm f_nmmml on s
drawbacks and how to overcome these drawbacks, 2 Marks)

OR
Explain pa:uh!tm reduction with respect to AND-OR graph with sustable example, (07 Murks)
. Write AOCalgorithm. (07 Marks)
¢. Discussabout constraint satisfaction and solve the below erypt anthmetic probiem.
CROSS + ROADS = DANGER (06 Murks)

Modue-2 « ©__o.==
a Consider the following séntences f

John likes all kinds of food ]
Apples are food

Chicken is foad

Amnything anyone cats and 1sn't kKilled 15 food
Bill ents peanuts and is still slive

Sue eats every everyvthing Bil| eats.

'|..
Lol

ﬂ;*ﬂ.ﬁ

':"'.""‘"‘".-“.'-‘:"

() Tr:.m__ilnlt these sentences into formulss i predicate loge.
{i1) Prove that John likes peanuts using backward chémmg.
{iii }Convert the formulas.of(:) into clause form,

fiviProve John likes peanuts using resolutron.

OR
Distinguish forward and backward reasoning with an example.

lines 1o go on walk.

(02 Aprks)
(05 Marks)
(05 Murks)
(05 Marks)

{04 Marks)

hl, Find maximallv specific. hypothesis for the traming instances given below, Also write
Find-§ algorithm. The concept of this particular problem will be on what days docs a person

Time | Weather

Temperanire | Company | Humidity | Wind | Goes

2. Any mevealing of identificntion, appead to evalaaion amd Yor equaiioms wiriten eg, 43-+8 = 50, will be meoved pn malpractice

Mommg | Sunny Warm Yes Mild

STI‘CII'IE: "Ii”‘. .

Evening | Ramy Cold "‘\|ﬂ hlild

Normal | No

Morming | Sunny | Moderate | Yes | Nommal

"'-::-rtml Yes |

Evening | -Sunny Cold | Yes | High

Stmng Yes

Iemgprorriant Mot : 1, Omenmipleting your mewers, compalsenly drony diagonsl cross lines on the remaining blmnk pegis

algonthm.
| of2

08 Marks)

¢. Define version space. Discuss the limitations of finds algorithm over candidaie elimination

{08 Marks)
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Muodu
Explain the concept of decision tree learmning, Write sbout attribute selection measure used

build the decision tree using ID3 algorithm. {07 Marks)
How a single perceptron can be used to represent the Boolean functions such as AND, OR.
(W Marks)

Write Gradient Descent algonthmn o train a linear unit along with the denvation. (07 Marks)

OR
What do you mean by Gain and entropy? How it 15 used 1o build the decision tree. (08 Marks)
Explain back propagation algorithm. Why 1s it not likely to be trapped in local minima”

(8 Marks)

Discuss the perceptron training rule and delta rule that solves the leaming problem of

perceptron., (04 Marks)
dul

Explain Naive Bayes classifier. {18 Marks)

Explain Bayesiuin Belief network and conditional independence with example. (08 Marky)
Let us assume dangerous fires are rare (1%) but smoke 15 fairly common (10%) due 1o
barbecues, and 9% of dangerous fires make smokes. Find the probability of danperous fire

when there 18 smoke. 104 Marks)
OR
[Hscuss mnimum description length pnnciple in bricf. (08 Murks)
Explain brute force MAP leaming algorithm. (08 Marks)
Explain EM algorithm. (14 Marks)
Explain k-Nearest neighbor leam ing algorithm, {08 Marks)
Explain Locally weighted regression. 108 Marks)
What is remforcement leaming? {04 Marks)
OR
Distinguish Eanger leaming vs Lazy leaming algorithms. (04 Marks)
Wite short notes on Q-learming. (08 Marks)
Dhscuss sbout Radial basis function in detail. (08 Muarks)

2of2
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Seventh Semester B.E. Degree Examination, Jan./Feb, 2023

Big data Analytics

Time: 3 hrs. Max. Marks: 10

Note: Answer any FIVE full questions, choosing ONE full question from eacl module.

o
dule-1
1 a Define Big data. Explam the classification of Big data. (10 Murks)
2 b, Define Scalability and its types.along with examples. (10 Marks)
. E OR
%E 2 a  Explain the functions of eath layer in Big duta architecture design with & diagram
5 . (10 Marks)
E g b. Define data preprocessing. Explain in brief the needs of preprocessing (10 Marks)
¢ 3 a Whatis HDFS? Highlight the important design features of the HDFS, (10 Marks)
55 b, Bring out th€eoncepts of the HDFS block replication with an example. {10 Marks)
B E
i : OR
s g 4 a  Explan Apache sqoop import and export method with neat diagram. (10 Marks)
E 4 b. Demonstrate anv six HBase commands with outp, (V0 Mlarks)
2 _ Modute:3
=5 5 a Explainabout NOSQL data store and its characteristics (10 Marks)
_E 3 b, Deseribe the principle of working of the CAP theorem, (10 Marks)
i
: B OR
E g 6 o Demonstrate the working of kev-value store with anexample (10 Marks)
g E b Describe the features of Mango DB, and its industrial application. (18 Marks)
&
i 7 2 Describe the Map tasks, Reduce tasks and Map Reduce Execution process {10 Marks)
3;?-_ bi_“Describe the Hive architecture and its characteristics. (10 Marks)
: ;
E= OR
E g 8 a  Demonstrate the pig architecture for scripts data flow and processing (10 Marks)
E E b, Differentiate bétween Pig and Map Reduce, give industrial apphications for each. (10 Marks)
2 Madule-§
5 9 a Explam the simple linear regression analysis {10 Marks)
E b.  Demonstrate frequent item set mining and association rule Mg (10 Marks)
£ OR
19 a Witha neat diagram, write the steps in K-means clustering. (10 Marks)
b. Explain the purpose of web usage analytics and the significance of web graphs. (10 Marks)

L

10
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Seventh Semester B.E. Degree Examination, Jan./Feb., 2023
Software Architecture and Design Patterns

Tuome: 3 hirs, Mo, Marks: 1)

Note: Answer any FIVE fufl guestions, choosing ONE full question from cach module,

1 f;
b,
2 2
b
e,
3 a
bs.
4 a
b.
5 &
b.
f A
b.
e
T i
b.
=
B a

le=1

Define design pattem, Explam four essential elements of design pattem ({07 Marks)
Briefly explain the design problems faced by ohject onented designers {13 Varks)
L2
Define Unihied Modelng Longuage (UML) Discuss different tvpes of UML structure
diagrams. 113 Murks)
What are busmess rules” Outline the four catepones of business rules. {18 Marks
Mention the uses of defining conceptual classes and relabonships. (02 Marks)
Module-2
Explon the Intent, Applicability and Structure of Adaprer patiem P10 Marks
Discuss the consequences and implementation issues of bndge pattem. {18 Mairko
OR
Explain the Intent, Apphcability. Strucure, Participants and Collaboration sections of proxy
Pa.ltl."l'l'l. {14 Markid
Discuss the benefits and implementastion ssues of facade pattem. i Mark sy
-3
Define behavioral patrerns, Discuss Applicability. Structure, Participants. Collaborations of
chmin of responsibility design pattem P12 Marksi
Explam the implementation sues of command patiern. (08 Marks)
OR
What are the benefits and drawbacks of mediator pattern”? (15 Marks)
Define memento pattern and mention its applicability (3 Marks)
Enscuss the implementation 1ssues of observer patiern. 12 Marks)
N
With 2 neat dimgram. explan MVC architecture and s ahemane view i 10 Marks)
What are the benefits of MVC architectural pattem? (05 Marks)
Mustrate the sequence of operations mvolved in drawing o line with a neat dagram,
i Al prks)
(8]
Explain the design of model subsystem and controller subsystem (10 Marks)

Dhscuss pattern based solutions in detal. (18 Marks)




18CS

Define distnbuted systems. Explain the advantages and disadvantages of distributed
Fyslems. 105 Marks)
With a neat diagram, explain the basic architecture of client/server systems n detnil

10 Marks)
Witte & <hott note on GET and POST methods. (K5 Viarks)

OR

Bricfly explain the steps involved in setting up remote object system. i1 Marks)
Drraw and explam state transition disgrams for adding book and rencwing books in Library
System. (08 Marks)

2afd
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Seventh Semester B.E. Degree E:nrﬁi.n#inn. Jan./Feb. 2023
User Interface Ilnslgn
Time: 3 hrs. [ Max. Marks: 100
Note: Answer any FIVE full questions, cheosing ONE full question from each module.
=1 :
1 o Define User Interface. Discuss the 1 of good design. .,‘M {10 Marks)
b. Discuss the charsctenstics ufl:hi_q : ical User Interface. , (10 Marks)
| OR
2 a. Compare GUI vérsus V Page Design with respect to Devices, Data, Presentation
Elements, Navigation, ks. ' (18 Marks)
b. Discuss the followmng ral principles of user interface
i} Aesthetically pl g 1) Compatibality iti) Consistency
iv) Control 'il v} Simphcity, | {10 Marks)
3 a Listand mlf:hu:l common usability problems in graphical svstems. (10 Marks)
b. Discusgany five Human Ehmt:nsuﬂs in mnterface design. {10 Marks)
A~ . OR
4 a. Explain Indirect methods of requirement determination in Business Function. {10 Marks)
b. IDhscuss bnefly the guu:l:imﬂ fﬂr designmg concephual models. (10 Marks)
.
5 a. Listand explam different structares of Menus with suitable diagrams. (12 Marks)
b. Dnscuss Fumlwns,md content of Menus. © N} (U Marks)
L ..'Tl-a ’
‘OR -
6 a Explan the ]:llu'ﬁld:. advantages, disadvantages, guidelipes 1o be followed in designing
following merfs choices, 1) Mark Toggles i) T:-,g,;glg! Menu ltems. (08 Marks)
b. Dl&:ﬂ;ﬁpﬂ] the tnllnurmg raphical menus ;1-,_' .
i) Pul Menu %n:ad.mg Menus % 1) Popup Menus. {12 Marks)
7 ﬁ & discuss in dlfﬂa%‘\wys win seful. {12 Marks)
h. lam filed wi rlapping winddws, and cascading windows their advantages and
ds&dvmugﬁ {08 Marks)
. . . JOR
8 a Explam m:;u;l:l'&ﬁ miodeless nnd":;ﬂl:ulmg and unfolding windows. {08 Marks)
b. Explain the fellowing with respect to windows
1) frame 1) Window sizing Buttons 1) Scroll bars v} Split box (08 Marks)
e. Descnbe Joystick with i ges and disadvantages. (04 Marks)
_ Module-3
9 a. Explain different and button guide lines. (12 Marks)
b. Descnbe check ‘ﬁmjﬁl boxes, paletics with advantages and disadvantages. {08 Marks)
OR
10 a List common presentation controls and discuss any four of them. (0% Marks)
b, Expluin the following kinds of tesis
i) Englﬁ!:lﬁ'walk through 1) Think-Aloud Evaluations  ii1) Usability Test. (12 Marks)
e 'H‘\. '?

S
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Important Note © 1. On completing your answers, compulsorly draw diagonal cross lmes on the remaining blank pages.
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Seventh Semester B.E. Degree Exam (hu . Jan./Feb. 2023
Cryptogra

Max. Marks: 100
NE full question from each module.

Explain Playfair Cipher Algorthm. Fi Ciphertexi for plaiiﬂ,;ﬁl = “mstruments” with

key = “MONARCHY”, g (10 Marks)
Explain with neat diagram I-nm:d"%fﬁcr strocture for En:r&m and Decryption. (10 Marks)
OR

Explam Hill Cipher Mgnrft‘}p‘ Using Hill-Cipher perform encryption and decryption for
‘\,ﬁ 17 ¥

plaintext = ‘pnymureﬂgef using key K= EI‘«:}& 21|. {10 Marks)
"4 % 2 2 19

Explain with ﬁu;mgm DES encrypti q,gumhm (10 Marks)

Explain jalgunﬂ:m Using REA-llgunl.hrn perform encryption and decryption using

p=1%g=dl,e=7and M= 88 {10 Marks)

Explifin Diffie-Hellman key e e algorithm and n@ow that the calculations produce

the identical resulis. (10 Marks)
Q ‘ﬁ' .l

Explain Elgamal ¢ rypi@;;ﬁn Perform enm@rﬁm and dm-yptﬂ‘!usmg g=19, a=10,

k=6M=17 X, -Smﬂh X (10 Marks)
Explain the r&quu:m:ms and applt:amfgy public key u-gmphy {10 Marks)

” :5; 3
Explain the cuﬁm of PRNG A {10 Marks)
Explain gn: distribution ufpuhlq keys with puhln: bgl}: .ﬁ.lﬂhﬂnty (10 Marks)
iu}m' ith neat diagra W I w:t-uf u:-n and decryption {10 Marks)
fi

E.:r.pl'lm distribution o keys using ]J;bhc key certificates. (10 Marks)
(10 Ml mrks)

techmical :Iq‘.ﬂ(.‘sfﬁnes in K sjon 4 protocols. (10 Marks)

OR

Explain PKIX architectural mddel (10 Marks)
Explain with neat di : ¢ key components of Internet Mail Architecture. (10 Marks)

ﬂExp-latn X.509 cﬁt
Bring out the d nces h:'twu% Kefberns version 4 and version 5 and alse mention the

Module-5
Explain the benefits afd applications of [Psec. {10 Marks)
Explain the 1P u-ﬁr;. processing for outhound and mbound packets (10 Marks)
':‘r? OR
Explain ESP packet format. (10 Marks)
Explam‘rhg eoncept of transport and tunnel modes. {10 Marks)
"EELE) .
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Seventh Semester B.E. Degree Examination, Jan./Feb. 2023
Python Application programming
Time: 3 hrs, Max. Marks: 100
Note: Answer any FIVE full guestions, choosing ONE full question from each module.
P Module-1
E I a Explan the rules of precedence used by python to evaluate an arthmetic expression Also
3 explan the arthmetic operators uscd in python (07 Marks)
4 b, With a neut dmgmm explain comptiter hardware architecture, List and explam three types of
I errors encounter in python programs (0% Murks)
g ¢, Wrile a user defined function named “Read_age” that reads and retumns age of a person. Call
L2 the function to read the age of Amar, Akbar and Antony. Print the youngest and Eldest age
?-?_;: among threée fnends. (05 Marks)
: 5 OR
2= 2 o Explain if, if-else and elif statements in python. (06 Marks)
%_ - b, Write a program to prompl a score between 0.0 and 1.0 IF the score 5 out of range. Print an
2 g error 1T the-score is between 0.0 and 1.0, print a grade using the followng table:
2 | Score | Grade
§2 >0y A
-8 >=(%] B
i3 »=f7]| €
£ - [ ==06 | D
g 3 >=05| . E
§- <05 ] F
z 8 (07 Marks)
b B €. Define the [ollowing: (1) Functions (1) Parameters and arguments
T 3 (i) Fruitful functions and void functions
%"—;E Also write the reasons to divide the program mto functions (07 Marks)
E
3 g Module-2
-E 3 1 o Explam while and for loop statements m python. Wrile a program to display Fist o
£ Natural numbers using while loop (08 Marks)
53 b, Write & python program 1o accept a filename from the uses
g (1) Display the first N-lines of the file
E (i} Find the frequency of occurrences of the word accepted from the user in the file,
=g (07 Murks)
E E ¢ Define string. Explain string shicmg n python with examples. (05 Marks)
~ = OR
s Write @ python program to accepl a sentence from the user and display the longest and
fit smitllest word of that sentence along with its length (07 Marks)
é Explain the following:
£ (1) read () (1) string traversing (i) openi ) {1v) break keyword
E (1 Marks)
Write a python program to print the sum of the following series = | + : - 11 S ST “l n’ s
read from the user. (08 Marks)
|l of2
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: Module-3

S a2 Wree a python program to read lliﬂh'lh::sinlﬂl:maﬁa'ﬁum!hcm'

L contained m it. Assume the email addressés contain only non_whi

106 N
) Bow 10 traverse and slice a list with suitable ‘example. Also explam how 1o dele

eherments from 4 list with different methods: ' (08 Marks)
& Wriic & program progress to accept a string, frem user and print the frequency of each

P character in the string. Use Dhctionary. ikt Marks)

',E.

] OR
§ & (even three points as list of tuples i, Jix,, v, Lx..¥, hix,. ¥, )], write a program 10 check if
they are colhnear (06 Muarks)
b Explain the following functions:
(1) append( ) (1) extend () (i sort{ ) 0 (iv) keysd ) and values (
(08 Marks)
¢ Write 8 python program that matches a string that has an "o’ followed by zero or more ‘b's .
1lse Regular Expressions search ( } method (6 Marks)
Muodule-4
7 a  Explam _ iii__method with an example, (15 Marks)
b What is a pure function” Write a pyihon program to find duration of event iF start and end
time is given by defiming class TIME, (08 Murks)
¢ Explan operator overloading How __add  _ method s mvoked when operator = used
between the abjects. Explan ils workmng. (07 Marks)
OR
§ o Create o Temperature class. Include two methods:
Method 1 ConvertFahrenher-takes Celsius and print in Fahrenhe

Method 2 ConventCelsius-takes Fahrenheit and print in Celsios
Derive the above methods through objects of temperature class. {7 Marks)
h  Explamn __str method with an example. (05 Marks)
¢ Define polymorphism. Write a class Rectangle that has aifributes length and breadth and a
method arca which retums the area of the Rectangle, Also idd a method move_rectangle ( )
that takes an object of Rectangle class and two numbers named dx and dy. It should change
the Jocation of the rectangle by adding dx 1o the X coordinate of comner and adding dy to the
y goordinate of corner. (08 Marks)

5
9 o What is socket? Explain how sockel conngction can be established to the mtemet using
pyvthon code over the TCP [P connection and hiip prodocol to get the web document.

(08 Marks)

b Write u python code for creating emplovee database inserting records and selecting the
employees working in the company. 108 Marks)

€. Write a note on JSON {4 Marks)

OR
10 a. FExplain the significance of XML over the web development. Design o python program 10
retrieve a node present in XML tree. Hlustrate with an example. (08 Marks)
b Whal is embedded SQL? Explain the importance of SQlite database. With suilable example,
explain functions mvolved m creation of database table i python (08 Marks)
¢ What is service oniented architecture” Discuss its benelits, (04 Marks)
W
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Seventh Semester B.E. Degree Examination, Jan./Feb, 2023
Introduction to Arl:lﬂniq!"]'htnlllgun:a
Max, Marks: 100
Note: Answer any FIVE full questions, choasing ONE full question from each module.
Module-1

Define the following terms

i) Amifical Intelhgence

m)  Agent

i) Search space

wi  Logical Reasoning

vl  Expert tasks, _ (10 Marks)

What are Al problem characteristics? Explain cach with an example. (11 Marks)

- OR
Define production svstem. Discuss the dafferent categones {characteristics) of production
Sysiem. (10 Marks)

There are 2 water Jugs of 3 and 4 lire. Neither has any measuring marker. There is a tap that
can be used to fill the Jugs with water. Indicate how 4-litre Jug can be filled half. Solve this
water — Jug problem by giving complete set of production rules and state space tree

(10 Marks)
Module-2
Briefly explain the four appeoaches of knowledgerepresentation with an example.
. W \ (10 Marks)
List the drawbacks of propositional logic, {04 Marks)
Differentiate between procedural vis declarative knowledge {06 Marks)
OR
Define forward snd buckward reasoning formulate and show the complete steps of S-puzzle
for the following data: % =
Start State | Goal State |
g[8 [3 ‘ 1123 |
B 16 |4 =" 18 _[&]
et .
|T_I_ﬁ - |-'r__.ﬁ_..5_I
. { 1 Adarks)
Consider the following predicates: el uﬁ‘;u{-ﬁw
1 Man (Mareus) : Bl'ﬂ'im;nﬁ
il Pumpcia“lt Marcus) '|I| U!:ll'-‘: PG HAL s AT “
i) Bom (Marcus, 40) Li L1 EGEOF e.urﬂb"“*l =
W) v man(x) — mortal (x) Lppart Y, .
v)  ¥x o pompeian (x) =+ died (x T4
vit  erupted ( Volcano, 79)
Vi) WX UL i mortel (x) o born (X b A gt =1, [50) — dead (X, 12)
vill) now = | 991
) ¥xo ¥ ofalve (s, t} =+ ~ dead (x; t)] A [~ dead (x01) — alive (x 1)]
) Wx YL Wi died (x, 1) A gt (e, ) —» dead (x5 12
Prove that | ~alive (marcus, now) (10 Marks)

| of2
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What is non monotonic reasoning” Explain the 2 approache$ of default reasoning,
_ (10 Marks)
b, Discuss the importance of truth maintenance systern and their tvpes. {10 Marks)

OR
a  Explan Dempster-Shafer theory with example. i 10 Marks)
b State and prove (Bayes) theorem for conditional probability. (10 Marks)
Module-4
a  Brefly explain the MINIMAX algorithm with example. (10 Marks)
b E:plum iterative deepening. Write :Hgnntms for depth first sterative deepening and iterative
deeping A {10 Marks)
OR
o Explain the different psan natural language understanding process {10 Marks)
b List and explain the vanious spell checking techrigues (10 Marks)
a.  Define Learming. Explain rote I::m'mng m:ampl: (10 Marks)
b Discuss the diflerent learning tmhmqueq‘&-nh respect o problem-solver (10 Marks)
- - {}R
& You work for a software company. You receive an order 1o develop an expent system for
movie feedback analysis. Ierate how you would efficiently design it (10 Marks)
b, Given n chatbot how would you acquire and accumulate knowledge needed for it to work
seamlessly. (10 Marks)
L N I. #
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Eighth Semester B.E. Degree Examination, Jan./Feb, 2023
Internet of Things Applications
Time: 3 hrs. Max. Marks: 100
Naote: Answer any FIVE full guestions, choosing ONE full guestion from each module.
£ Module-1
3 1 o Defme loT. With a neat diagram discéuss the genesis ol lol m dewnl (05 Mlarks)
E Mscuss the different challenges ofloT 0% Marks)
a ¢ Explain the One M2M loT architecture with a neat diagram, (10 Marks)
E
Z OR
g e 1 a Describe the loTWF standardized architecture in detail with a diagram {10 Marks)
EE b. Explam the concept of loT Data mamagement and Compute Stack with Fog Computing
g using relevant diagrams {05 Marks)
T:;T-’ ¢ List out the defining characteristics of Fog Computing (05 Marks)
B
E ';; Module-2
5 £ 3 a Witha peatdmgram explan how the actuators and sensors imteract with the physical world.
*; = Classify the actuators based on energy Lvpes. (08 Marks)
=5 b. Explem the physical layer frame format, MAC [aver frame lormat and secarily
,E g implementation in IEEE 802154 technology (12 Marks)
3
3s OR
23 4 a Bnefly discuss the vanous communication critenn 06 Marks)
B~ b. Explain LoRaW AN architecture and MAC laver frame format with neat dmgrams, (10 Marks)
E 3 ¢. Explain briefly the 4 defining charactenstics of smart objects. (04 Marks
.
E 5 Module-3
| 'E 5 a  Explan in detail the key advantages ol [P 108 Marks)
5 - b.  Explam the followmng with respeet 1o 6LoWPAN technoloey
i i} Header Stacks
£ 3 i) Header Compression
== i) Fragmentaton
24 Y Mesh Addressing (12 Marks)
=3
g OR
E’E 6 a Explan MOTT framework and message format with neal dagrams, (0% Marks)
= b. Explam i detnil CoAP commumication in loT mirastructure, CoAP message frame formai
-
o (12 Marks)
s Module-4
é 7 a  Explam in detal the core functions of Edge streaming analytics with neat diagrams
= : 2 ; (08 Marks)
=1 Describie the different types of data anabysis results with a neat dingram (06 Marks)
Explain Lambda architecture with a neit diagram. 106 Marks)
| af2
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OR

Explain in detail the Purdue Model for Control Hierarchy and OT Netwark ¢
with a neat dmgram, J
Diseuss OCTAVE and FAIR formal risk Analysis stractures with neat diagrams,

Muodule-5
Explain the different of pin parts of Ardumo UNO board with a disgram.

oo

Explain Smart City Parking Archiecture wath a neat diagram. {04 M
¢.  Explam the structure of an Arduino program, (06 Marks)
OR
10 o Wiite o program o blink an LED using Raspberry P 108 Murks)
b, Explain Smart Cuy loT Architecture with a neat diagram. {12 Marks)
LI ]
2ol
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Eighth Semester B.E. Degree Examination, Jan./Feb. 2023
Big Data Analytics

Time: 3 hrs. Max. Marks: 100
Nate: Answer any FIVE full questions, chposing ONE full question from each module.

1 &
b.
i
b.
.
3 a
b,
4 a
b,
5 B
b.
[ =
& a
b.
c.
7 =&
b.

_ Module-1
What is HDFS? List and explain (he components of HDFS. (18 Marks)
Write the Java code for MAPand Reduce of word count problem. Describe the sieps of
compiling and Removing the Map Reduce program. {10 Marks)
OR
With example, cr.phi{h-ﬂic different general HDFC commaonds. {08 Marks)
Flaborate the ﬂwmquu'ﬂd for Map Reduce paralle! data flow. it Marks
How the problem of Name Node us a single point of fulure is overcome i Hudoop
installations™” {6 Marks)

Withmaest diagram descnbe the Two-Step Apache Sgoop and Expart and import method.

(10 Marks)

Define Apache pig. List and explain the usage modesol Apache pig (10 Murks)
OR '

With & neat diagram, expliin Oozie DAG workflow and the types of Nodes in the workflow

P18 Sarksi

Explain the featurés.and henefits of Apache HIVE in Hadoop, (10 Marks)

Ilustrate and explain the Architecture of Dat-warchouse with the help of a noat diagram.

. i0R Marks)
Why sheubd organizations invest in business intelligence solutions” 16 Marksh
Draw the flow of BIDM gyele: Explain the strutegic and operational decisims. (06 Marks)

OR
What are the objectives for praphical excellence in data visuatization suggested by Tufle?
Mustrate the sam@with an example. (08 Marks)
Explain ERIEI.!*-DH Dam Mining eyche. 106 Marks)
Describe theprocess of selecting wnd cleansing of data for mimng. i Marks)
Module-4

Explain the design principles of Antificial Neural Network { ANN) by constructing o maodel

representation for a singleand mulilayer AMN, Describe the steps to biuild an ANN.
(1m Marksh

Construct a decision tree to predict the play decision gwven the stmospheric conditions.
(Dota set — TablE'QT(b)).

Outlook | Temperature | Humidity  Windy [ Play |
Sunny Hot | Nomwl Toue. | 4
| of 2
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Outlook | Temperture | Humidity | Windy Play
Sunny | Hot High " False No
Sunny | Hot High .~ True No
Overcast | Hot High False Yes
Ramy |  Mild __I-I.jﬁ False W Yes
Ramy | Coal MNormal False Yes
_ Ramy |  Codl gomal | True |~ No |
Overcast | Cool Normal Trug Yes
Sunny Mild ____High Falic No
Sunny Coal Normal False Yes
Rainy Mild Normal | False Yes
Sunny Mikd Normal 1 o T Yes
Owercast Mild |  High &% Tme Yes
Overcast P _Hu[ | MNormal 7 False Yes
Ratny Mild Hi True | No
' ah (10 Marks)
OR
a.  Discussthe three key clements which differentiate the algonthms for decision making.
{08 Marks)
b.  Explam the advantages and disadvantages of Regression, mﬂ:ls (1M Marks)
¢ Explain K-Means algonthm for elustenng. (06 Miarks)
F x J
ModuleS Y,
4,  Explam three lvpes of webminmg. Use rq:lprn;nut: flow diagram to m‘pms:nt the stn‘l.h:
b. What is Naive Bayes techmique? Explain its model. (06 Marks)
¢. Discuss the application and practical consideration of uucmfhﬂ'mmt analysis. (06 Marks)
OR
a.  Explain the Text Mining process and the Architecture. (10 Marks)
b. Compuie the rank values for the network in the Fig Q10(h). When is the highest ranked

code”! Solve the same with § iterations.

Fig Q1i(b) 10 Marks)
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Eighth Semester B.E. Degree Examination, Jan./Feb. 2013
System Modelling and Simulation
Time: 3 hrs. _ Max. Marks: 100
Note: I, Answer any FIVE full questions, choosing ONE full qlmaﬁw cach module.

i 2. Assume data (f necessary.

g ':,

2 1 a Withanent Now chart expluin thevarious steps i a surlabon study. {10 Marks)

% b, Discuss the advantages and disadvantages of simulation (10 Marks)
$Z OR
i 5 2 o  Define the following terms
- () System i) Model 1) System state  iv) Bntity ) Attnibutes  vi) List vil) Event
% .3 viii) Event notice 13) Activity  x) Delay, (10 Marks)
E"!r' h. A grocery storg has one checkout counler ‘Customers ammive at this checkout counter at
B g random from | 10 8§ minutes mpart and each inter-arnval has the same probability of
PE pccurrenges, The service times vary from | to 6 minutes with probability given below.
s E [ServicetimeS) | 2 | 3 | 4% 5 | 6
ig _ Probabality [ 0.10 | 0.20 | 0.30 [ 035 | 0.10 | 0.05
e Develop a simulation table for A0 customers. Consader the random digits for armvals as -, 64,
g 112, 678, 289, §71, 583, 139, 423, 39 and serviee times as 84, 15, 8781, 06, 91, 79, 09, 64,
3 = 38 In sequence ' b
W o =
s 5 i) Average waiting time of 8 customer
g3 W) Average service ime 3
=5 i) Probability that a customer has (dwait in the queue,
5= iv)  Probability of idle time of the sérver. {10 Marks)
£
: % Module-2 =" 8 0 & ASSOCIATION'®
g3 3 a  Explamaniform distribution VACHANS PITAMAMA {1 Marks)
£ 5 b Explain exponential distebution. i GR P G HALAKATTL 3 (10 Marks)
EE . ! —ib . EGE OF FHGINEERING r

& 4 a  Explain queuing potation for parallel server systems. (10 Marks)
g-ﬁ b. Discuss charscteristics of queuing systems. {10 Marks)
EE
£ Module-3
e 5 a  The sequence of numbers
[ 044, 0.81. 0,14, 0.05, (193 has been generated Use the Kolmogorov-Smirnov test with
;. o = 0.05 1o learn whelber the hypothesis that the numbers are uniformly distributed on the
g mterval [0, 1] can be rejected. [D, = (.565] {11 Marks)
g b Generate five random numbers by linear congruential method with
L Xy =27, a= 11> 43 and m= 100 {10 Marks)

| of2
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OR
Suggest step by step procedure 1o generate random variates using inverse
technigque for exponential distribution, _
Generate three poisson variates with mean o = 0.2, &= = 0 8187,

Module-4
Discuss suggested estimators for distributions often used in simulation. '

Discuss four steps in the development of & useful model of mput data. {04 Marks)
Discuss vanous ways of obtuining in I'nmu;i:fn about a process even il data are not available,
' (08 Marks)
OR
Discuss measures nl'rmtﬁ:rm}u‘m-i: and thewr estimation. (10 Marks)
Dnscuss types of simulations with respect to outpul analysis: (015 Marks)
Discuss stochastic nature ofediput data, (05 Marks)
Explain Inibalizathon’ Bias in steady-state simulations and error estimation for steady-state
simulations. (10 Marks)
Discuss replication method for steady-swbe simulations and batch means for interval
estimationan steady-state simulations (10 Marks)
OR ,

Explaittwith neat diagram, model building. verification and validation (10 Marks)

Explain three step approach for validation process.as formulated by Navlor and Finger,
; (18 Marks)

LA B
of2
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Eighth Semester B.E. Degree Examination, Jan./Feb. 2023
Iinternet of Things
Time: 3 hrs. Max. Marks: 100
: Note: Answer any FIVE full questions, choosing ONE full question from each module.
2
E Module-1
¥ 1 a. Whatis loT? Discuss the evolutionary phases of the intemet with neat dingram. 196 Marks)
- b. List the difference between Operation Technology (OT) and Information Technology (IT)
E with thetr challenges 186 Marks)
E ¢. Explain the M2M loT Architecture with neat dingram. {0 Marks)
K
5? OR
E g 1 & Discuss the significant challenges and problems facmg by lol 105 Marks)
P b. With neat diagram explain the simplified loT architecture. (B8 Viarks)
o ¢. Describe the Fog laver in the loT datn monagement and computer stack with neat diagram
E & und Fop computing chamcienstcs. (T Marks)
E x 3 a. Dehne sensors. Lisr the different categones of the sensors. (08 Marks)
—E- %’ b. Describe the different sepsor types with an example. (Conssder any B sensor type).
(1% Varks)
= :- ¢. What 15 nctuator ond smart object” Explam the different charactenstics of smart object,
5;5 (87 Marks)
] Sk iR
T 4 a. With neat diagram explain ZigBee [P protocol stack. (10 Marks)
'E B b. Define LaRaWAN. Explam LoRaWAN lnvers with neat deagram. {18 Marks)
%E Module-3
£ § a.  Explainany six key advaniages of the IP suite for loT 106 Marks)
g2 Lges
- b, With neat diagram explam 6 LoWPAN with and withoul header compression. s Slaiks)
E-‘E ¢4 Define RPL and list the different RPL routing metrics and constraints of RFC 6551,
H i (06 Marks)
k-
= F OR
'E'i; 6 a. Desenbe CoAP message format with neat diagram. (08 Marks)
2 = b. Explain MOQTT message format and its types with neat diagram, {88 Marks)
- :':' ¢. Explain 1oT — Data Broker with an example. 1B Viarks)
3 Module-4
. T a. Explamn m detm] how the [T data 1s cateporized. (06 Marks)
g b. With neat diagram explain the edge analytics processmg unit with its functions. (88 Marks)
¥ ¢. Explam MPP Databases with its architecture {6 Marks)
| of2
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0OR

Explain the Lambda schitecture with seat disgram. (08 2
Wiih neat diagram explam the OCTAVE risk assessment frimeworks, (08 Marks)
List the advantages of FNF. {14 Narkad

Write an Andumo progrm o implement the traflic light simulation for pedestrians.

{8 Marks)
With neat diagram explomn the pars of Respberry Pi board, (08 Marks)
While a Raspberry P program to implement blinkmg an LED. i0d Miarks)
(R
Explain in dets] loT smant parking architeeture, (08 Marks)
With neat diagram explain the role of the cloud for smart city applications, {10 Marks)
Write u short note on Arduino. (02 Marks)
'E R R E ]
2af?
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Seventh Semester B.E. Degree Examination, Jan./Feb, 2023
Python Application programming

Time: 3 hrs. Max. Marks: 100

Fah

=

Note: Answer any FIVE full guestions, choosing ONE full guestion from each module,

Module=1
Explam the rules of precedence used by python to evaluate an arthmetic expression. Also
explam the arthmetic operators used in pyvthon. (17 Narks)
With o neat dagram, explam comptiter hardware architectime, List and cxplom three types of
erfors encounter in python programs (018 Marky)
Wiite a user defined function named “"Read _age™ that reads and returns age of a person. Call
the function 1o read the age of Amar, Akbar and Antony. Print the youngest and Eldest age
nmong three friends. (03 Niarks)

OR

Explam 1f, il-elsé and ehif staterments in python (6 Marks)

Write a progrm (o prompt a score between 0.0 and 100 1T the score s out of mnge. Prind an

error. I thesscore is between 0.0 and 1.0, print a grade using the following table:

' | Seore | Grade

| >==0.9

| >=08
»=[), 7

=6
=) &
A5

=|{m|o|alel>

(0T Marks)
Define the followang (1) Functions () Parmmeters and arguments
(i1} Froitful fmctions and voud functions
Also write the reasons 1o divide the program mio fanctions. {07 Marks}

Module-2
Explain while and for loop stalements in python. Wrile & progrum to display Fist *n’
Matural numbers using while loop, (08 Marks)
Write a python program 10 accept a filename from the uses
(1) Display the first N-lines of the file

(i} Find the freguency of ocoumrences of the word aceepted from the user in the file
(07 Marks)

Define string. Explain string shiewmg m python with examples (05 Marks)
(R

Write a python program 1o accepl a sentence from the user and display the longest and

smallest word of that septence along with s length, (07 Marks)

Explain the following

(i) rvead () (1) string traversing (i) openi {iv) break keyword

(08 Marks)
] r P . 1 . L .
Write o python program to print the sum of the following serwes ; 1+ i S =N 15

read from the user 105 Marksh
lol2
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Module-3 .
Write @ python program to read all the lines in a file acceplad from the user and print all
email sddresses contamed in it. Assume the email addresses contain only. non_white space

charneters, (06 Marks}
Explain how 1o traverse and slice a list with suitable example. Also explain how to delete
elements from i list with different methods. (08 Marks)
Wrile @ program progress to accept @ string from user and print the frequency of each
character in the string. Use Dhictionary. (B Marks)
OR '

Giiven three points as list of wples ie., fix,. v, Lix,. v, Lix v, )] weite o program to check if
they are collmear {06 Murks)
Explamn the following functions,
(1} append( ) i} extend ( ) (i) sort ¢y (v} keys( ) and values( )

(08 Marks)
Write a python program that matches a string that has an ‘a’ followed by 2ero or more *b's .
Lise Regular Expressions search ( ) method (ks Marks)

Module-4
Explam  _init_ _method with an example. _ (05 Marks)
What 15 a pure function? Write a python program to find duration of event i start and end
time is given by defining class TIME (08 Marks)
Explam operator overloading, How _ add_ method i invoked when operator + used
between the objects. Explun its workmg, (07 Marks)
OR

Create a: Temperatore class, Inelude two methods:

Method 1 * ConvertFahrenben-takes Cebsius and print in Fahrenhen.

Method 2 ' ConventCelsins-takes Fuhrenheit and print in Celsius

Derive the above methods through objects of temperature cliss, (07 Murks)
Explosn _str_method with an example. (05 Marks)
Define polvmorphism, Write a class Rectangle that has attnbutes length and breadth and o
method area which returns the area-of the Rectangle, Also add a method move_rectangle { )
that takes an object of Rectangle class and two numbers named dx and dy. It should change
the location of the rectangle by adding dx to the X coordinate of comer and adding dy to the
y coordinate of comer {08 Marks)

What 5 socket? Explun how socket connection can be established to the internet using
python code over the TCP IP connection and http protocol to get the web document.

(08 Mlarks)
Write a python gode for creating emplovee database inserting records and selecting the
emplovees working in the company. {8 Marks)
Wrile a nole an JSON {04 Marks)
OR
Explain the significance of XML over the web development. Design a python program 1o
retrieve & node present in XML tree. [Hustrate with an example 108 Murks)
What is embedded SOQL? Explain the importance of $Qlite database. With suitable example,
explam functions involved in creation of database table in python (08 Alarks)
What is service oriented architecture? Discuss s benefits, (104 Marks)
ok
2afl
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Fifth Semester B.E./B.Tech. Degree Examination. Jan./Feb, 2023
Management and Entrepreneurship for IT Industry

Fime: 3 hrs Max. Marks: 170
Note: Answer any FIVE full guestions, choosing ONE full guesiion from each moidule,

Module-1

1 a, What 15 ?'|"l=!'-"--_.'l-'"'l"‘ll|' List the functinasl anciiz of maniagement an | enplim any wo o
clepa (10 Marks)

) [.'.\,Fll:lil'l in detni] levels of man IECITRE {06 Alarks)

e |"|II|.'|'|_I-. dekcnhe Iportance l'l!"‘il.l.l'rii"l‘:' (04 Simrks)

R
Lhscuss the mporfinee of plannmy Bnelly explam the pencral steps invelved in planning
11 Slarks)
Lxplain any two Management Approaches 1 A arks)
E Wiite a difference beiween Formal and ;"‘.;l'-il'.:|l-l"._'.ll Al ({4 Marks

i

Module-2

3 o, ‘Whats Motrvation? Explmin Mastow s Need Hicrarchy theory of Motivanon {10 Murks)
h. Ihifferentinte between eo-ondination ] co-opermtion {106 Morks)
¢, Write a dilference between Munager and o Leader {4 AMaika

(K

4 0 Define Control Briefly expinin the méthads of establishing control {10 Morks)
b, What are the ments and dements of Hertzberg™s two factor theory™ (b6 W
¢. List the charictenstics of Direction, it Alnrksi

Module-3

§ a, Define Entreprencur. Explain the functions of entreprenecut P10 Marksi
b. -~ Brielly desenibe the singes in entreproneunial process (0 S E k)
€. wnte the differences between Entreprencurs and Intraprencurs (0 Marks)

OR
f | [""|'-'| un {I|IT|_1..nr|~. [ ||_\.|l..|||"!.\_|,||..“1|':.h- |||.|1-' with classitieations {10 Maakesh
Wihat are the |.".!!II|:|'.H of an entreprencur? (06 Marks)
¢.  Winie the differences berween Entreprencur snd Manage: (4 Marks)
Modile-4

T o Defing the mesning of Progect Explain in detail the « arous woys.of Project Identifion on
{10 Yiarks
b. Bnelly desenibe the contents of Praject Repurt (04 Marks)
g Last ihe different seouential stapes Tor fommn latian of Project Repon 04 M ebesd
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OR

Defing ERP? Explain the importance and need of a ERP

Write short notes on fimctional areas of management of ERP
List the planning cormmission guidelines for prepanng mdustnal projects

Module-5

Explain the steps involved in establishing Micro and Small enterprise.
Discuss the case study of air Decean (Coaptain G R. Gopinath)

Whar 15 Patent? Lt different types ol Prtenlt

OR

Explain the followmg

i) KIADB

i) RESSI

i) NSIC

v KSEL

¥) DI

Piscuss the case siudy of Infasys - N.R. Narayana Murthy
List the sdvaniages of Micro snd Small entempnses

T

{10 Marks)
(06 Marks)
{04 Aarks)

(10 Marks)
(fa Marks)
(04 Murks)

{10 Marks)
{06 Narks)
{ild Alnrks)
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Fifth Semester B.E. Degree Examination, Jan./Feb. 2023
Computer Networks and Security
Time: 3 hrs Max. Marks: 100
i Note: Answer any FIVE full questions, clioesing ONE full guestion from each module.
é
£ Module-1
2 1 a Explainthe use of cookie files in web applications (06 Marks)
;] b. With a neat diagram, explain how SMTP can be used for transmitting mails from sender to
?;I' TECEIVET (08 Marks)
= ¢ Ihscuss the working of Bit Torrent for file distribution (06 Marks)
i ¥
=8 OR
55 2 a Differentiste betwigerd persistent and non persistent connections m HTTP {05 Marks)
-4 L] . In brief explain the conditional GET operation, {05 Marks)
£8 c. Describe the DNS records and messages indétail (10 Marks)
i
EE Module-2
g2 3 a  Inbrefdescribe UDF segment stpuetire and checksum ggmputation {4 Marks)
e b, With a'neat diagram demonstratethe working -.~ff_|{} BALCK-N protocol (08 Marks)
e ¢. Explain TCP flow contral in detail (06 Marks)
58
X
T = OR
;:; 4 a. With the bhelp of a FSM, describe reliable®dats transfer in a Lossy chanoel with bit errors
35 irdt 3.0) (08 Marks)
i % Explam the vanous fields of a TCP segment strocture (05 Marks)
=6 ¢ What are the approaches to congestion control? Explain m detail with example. (07 Marks)
F2 | ... Module-3
8= 5§ a Explain infer antonomous system touting with Barder Gateway protocol (iR Marks)
g3 b.  Explain various Broadeast Routing algorithms, {08 Marks)
R ¢ write a note on IGMP protocol (04 Marks)
23 OR
o 6 a Write the link siiite algorithm and apply it 1o the ©llowing graph. Assume node ‘o’ as the
£ source node (18 Marks)
E £
EE
A
Z
z

Fig (). 6(a)
b. Explain the architecture of a Router { L0 Marks)
| of 2
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Module-4

What are the elements of network security? Discuss the threats 1w network secunty
(e

Explain RSA algorithm. Using RSA encrypt a message m= 9. Assume p= 3 andg =T

Find the public key and private key, also show encryption and decrvption. {10 Marks)
OR

Explain the working of DES algorithm. (08 Marks)

Discuss the secure Hash Algorithm (06 Marks)

Write a note on firewalls {16 Marks)

Module-5

Explain the types of multimedia netwirk applications, (04 Marks)

Brieflv explain how DNS redirects & user request 10 a CON server (08 Marks)

With a diagram, explain SIP call establishment (06 Marks)
OR

What are the properties 0f video and audio? Explain in detail (07 Marks)

With a neat diagram. €xplain streaming stored video over HTTP. (07 Marks)

Explam the Forwald Emor Comection (FEC) techmigue for loss anticipation in VolP

appheation. {6 Marks)

E W@ 88
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Fifth Semester B.E. Degree Examination, Jan./Feb, 2023
Database Management System

Time: 3 hrs, P, Marks: [l

Note: Answer any FIVE full guestions, choosing ONE full guestion from eacl module.

af
E _ Muoduwle-1
= | 8 Descnbe the charactenstics of database spproach (04 Marks)
; b, List and exploin the criteria for classification of DRBMS (R Marksh
T ¢: Write an ER dwgram to represent CAR entity 1ype with 2 key attnbutes Regstration and
o Vehicle 1D 104 Murks)
-
E OR
£ 2 a Wrntean UML class disgram notation for company conceptual schema (10 Marks)
i b Define the following terms b Data Model i Schema mi Instance
:EI w) Conned transaction v} Data Manapulaton Language (DM ) P00 Marks)
Module-2
3 a  Explam the concepis of speciahzation and Generalvation, with the help of YEHICT |
supereiass {IRMarks)
b, Eaplam the difTerent Relational Model constramis. il Marksh
¢ Create a twble for the Works In relationship shown m Fue Q3c) {06 Slurks)

Fig. ©Q3(c)

(OR
4 Considered the COMPANY DATABASE
EMPLOYEE (Fname , Minit | Lname | Ssn, Bdata | Address . Sex . Salary . Super Ssn . Dno)
DEPARTMENT (Dname . Dnumber . Mgr Ssn , Mgr Start_data)
DEPART LOCATIONS ( Dnumber , DLocation)
PROJECT ( Poame . Paomiber . PLocation . Daoam)
WORKS ON (ESsn . Pno |, Hours)
DEPERDENT (ESsn , Dependent_name | Sex | Bdate . Relationship)
specify the llowimng queries in SOL on the database schema given above
a. For every project located m “Stafford” | Ist1 the progect number, the controlling depart ment
number and the departmem managers last name | address and birth dae i1ty Nlarks)

h Retncve the birth dste and pddrews of the ..'|l1r'|||'|‘|;|._‘|_'-. w s fmine 5 John B, Smidth

(i Mlarks)
¢ Retneve the mame and addrcss ol all emplovees whoe work for the " Rescarcly’ department

i Bt Marks)
id  Retrieve the salary ol every emplovee 02 Sarks)

ol 2

Any revealing of idenlification, appeal to evaluarer amd ‘o éqmsbioms wiitlen e 4
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Module-3
Disciss EXISTS and UKITQUE functions im SOL. Consider the COMPANY  database gy
m Question number (4, write @ query 1o Hst the name of the Manager who have atleast one

dependent. (08 Marks)
With a real Workd example, explain the following -
1 JBEBEC iy Correlated nested queries ) Stored Procedures
ivh Schema change stalements in SOL 112 Marks)
OR

Explain the usage of Aggregate function in S0QL. Write an SQL query to find sum of the
salarics of all employees, the maximom salary, the mimmum salary and the average salary

by remaiming the columns in a single row table (10 Marks)

Create an HITML form 1o collect user ol and password Gelds and 1 also has 1o have two

Butions ome lor reset and another for login (06 Murks)

Wore a shorl mske on 1) Javaheript up Ll (04 Marksh
Module-4

[describe the 3 mann techmigues 1o pchieve first normal form for the relation by faking

[ llowme ¢xamples schema (04 Murks)

nans | Druma l D 150 I Dhecah ,..]]

il . 1

IMscuss the Informal guidelnes to determime the quality of relations schema design with a

suilable example (10 Marks)
[nsguss the Insertion . Deletion and Modification anomabes.  Hlustrate, why are they
considered bad, with an example 06 Marks)
OR
What do you mean by Normalization” Explain 2NF and BONI, with a suitable example.
illh Marksy
Consider the anversal relation B = [AL B, C. DUE F, G, H, 1)) and the set of functional
dependencies
F=1IA Bl = 1C! 1Al = (D E] . [B] = |F}, [F] = G H] , [D] =[] 3})
1 What s key ol R i) Decompose B mio 2NF and then ANF relation. (06 Marks)
Wite an algorithm 10 And a mmimal cover T for a set ol functional dependencies k.
(18 Mnrks)
Module-5
Iscuss the ACID propenwes of database tmnsacton {08 Marks)
Wi comeurreney contrul 15 needed? Demonstrate with an example (12 Marks)
OR
Frietly explain 2 phase bckmg protocols (05 Marks)
Explain Transaction suppon in 501 (05 Murks)

Wirite u shor note on |

1) Single user and Multuser system

uy Transaction roll back and Cascadding roll back.

ml Shadow pagmg

ivh Dhatabase backup and recovery from catasirophic faihere

v Deadbock preventwsn protocol (10 Marks)

LI I
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I--‘ifth Semesier BLE. i}tgruo Examination, Jan./Feb, 2023
Automata Theory and Computability

Tume: 3 hrs, Sow Maorks 100

Nove: Anvwer any FIVE full guestions, choosing ONE full guestion from each svedndy,

S0, will ba ercated 28 malprictice,

-k

ot Ui rehuciaig blank puges

Lol chmaa s

prrcal 1o evabuabor and of sgqustons werinien o 4

L completsie ver answers, compulsanly diaw i

"I.I'u:- nt L'J“ e ||i. . III.'I:Ili |-=.'uI'.| m, 4

-

Impariue M

Muodufe-1
Define DFSM, Desien DFSM
1] To pccept strings over (o b sach that each block of 5 {length five) consecutive syvinhals
have aileast iwo a's.
1) Toaccept L= {mfab + ba) | tn & |a. b
i) To accept | Liphah Yne o bt ! (10 Marks)
Define distmguishable and mdistinguishable stutes. Minmmiee the ollowing DFSAL
0 il |

5 & H A\
I3 A i
i [y B
& [} ] !
E [ |
I i |
Ci F i
H £ L}
il Mlaeksi
iR

Convent the following NDFSM to DFSM. [Reler Fig (32(u1]

9 L]
G1 g B '
WL NG,
Fig.Q2(a) 08 Wurks)
Explain the simulators for Fimite State Machme i Marks)
Desipm
(1) Mealy Machine that accepts the strimg that ends esther with aa or bb and X = [0, b
[III 1'l.'l-.l'.'ll.'-..‘ Machine th]ll |'I|l.l|,!li|.'|,‘-' A 'H and LT 4,|-:.,:||-,;::u'.||1:_r O 1Nls that end with " 10
117 and others respechively i Marks)

Module-2
Paild n.‘:._,‘llulu'l.r SR PTERREION 1'||_|.r|'| 1||.|.' ||~|'!|.;|-.-..n. ¥ |-'~]"|,! ’H.,,'I:_'l F e 1_!!'4r;-|||

—j_'lr
R__m

Fre Q3 i) (05 Marks)
afate and prove pumping Lemma  theorem  for regular  lonpuages.  Shaow  thal
L= lab" | n=0] xnot Regular. { 1 Viarks)
Show that regular languages are closed under complement and intersection 108 Marksi

P of2
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I

b

Hl

18C

OR
Qb Regular Expression for the following languages
(i) L=}ab% |ns4.m2 . psd)

isnl L Cig s lonl ol 3=0& we ja bl )

fnidL="1a'h" | m+ niseéven | M Marks)

Prove Kleen's theorem - Any languspe that can be defined with o regular expression can be

gecepted by some FSM and =0 i regular {08 Marks)

Otz NDESM for the following regular expression (a -+ h) abb (04 Marks)
Module-3

Desagmn o PDA for twe language
L= oo e (0. b)) where o is reverse of m |
el show the moves made by PDA for the string “anbobua™ and “abacbba™. (10 Miarksy
Define Lefimuost derivation, Rightmost dervation and Parse tree, Consider the grammar.
5 — ARl A = A |E
B —»aB | bB|= D—sale
(Whtam LMD, RMD and parse tree for the string “aaabab”, {H0 Marks)

OR
Define CFG and design o U FG for the ollowing language.
(y L=10"1"2" ' m=] andn 210}

T ogpine | i (o By !

(L= "¢ p-2m=kformz0andnz 0 | P10 Mlarks)
[ fime ONF. Convert the following CFG mo CNF,
. —5 ASH ¢ A —s aAS ! i B — Sh5 | A hh (10 Marks)

Module-d4
Define TM and design a uring mischine for L= {m |we (0+] V" containing the substnng 001
Write transition disgram and show the moves made by the Turing machine for input sinmg

[LALHRE (14 Marks)

Define and explun DTM and 5DTM (06 Marks)
OR

With a neat disgram cxplaan the working of Multitape [urmg Machme. (I8 Marks)

Desien o Tunng nuchine o accept L W1 nz 1) Show the imoves made for ihe sinng

0011 and 00111, (12 Marks)

Modu le-5
W e st poles an

Lipear Bownd Automata (6 Viarks)

Chureh Turnng Thesis (07 Marks)

Yon-Detenmmstic Turing Machne {7 Marks)
(R

Explain Halting Problem and Pisst Cormespondence problem in Turing Machme, (10 Marks)
[Fiscuss the following

i) Deerdoble and Undecwdable Languape i85 Marks)
i1 Cuaniem Caiiputers (05 Marks)

W & W 8

2af 2
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Fifth Semester B.E Degree Examination, Jan./Feb. 2023
Environmental Studies

(COMMON TO ALL BRANCHES)

Time: 2 hrs.] [Max, Marks: 100

o

T
v

INSTRUCTIONS TO THE CANDIDATES

Answer all the hundred questions, each guestion carmes one mark.

Use only Black ball point pen for writing / darkening the circles.

For cach guestion, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMBR sheet.

Darkening two circles for the same question makes the answer invalid,
Damaging/overwriting, using whiteners on  the OMR sheeis are sinctly
prohibited.

The Komataka State Pollation Control Board {KSWFI:."EE“:E establishedan the year
n) 1974 b 1952 &) 1973 41 1982

Which of the following is not a part of the hydrological ¢ yele™
a) Precipitation b Infiliration
¢) Tronspiration i) Perspiration

First Intémational Earth Summat was hold at
a) LisA b} Russia
¢} Rio=le-lanerio d} Johannesbury

Which among the following has highest percentage of calortfic value?
a) Anthracite b) Peal
¢} Lignite d) Bituminous coal

Nitrogen fixing-bacteria exists
a} Leaf b} S1em
o) Roots d) Flower

The two major componeits of ecosysiem are
n) Admbatic and sotropie b} Ecologic and ¢limatologic
¢} Cvelic and biologic dy Abiotic and biotic

Gieothermal encrgy 15 a

a} Heat energy b Wind energy
¢) Current encrgy d) Solar energy

Version -B - 1 of 8
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10,

1.

12.

13.

4.

15.

1.

17.

19,

20.

=

18CIV5S9

The average life expectancy around the world is currently,

) Decreasing b} Increasing

c) Stabilizing d) Not¢hinging

The universal declaration of Human Rights was proclaimed by the L'N in the vear
a) 1946 b) 1947

c) 1948 d) 1949

The objective of Integrated Child Development Service (ICDS) are

&) Immunization b} Health check up and referml services
¢} Pre-school non formal education d} All ol these

Cils stimds for

a) Geostationary Internct Seetor b} Geogmphical Information System
¢} Geotechmeal Information Society d} Gegthermal Investigation Site
LPG is n muxture of

a) N: and H.S b) COsand N

] Propane and butanes d) Methane and C0-

The Tiger Conservation Project was started in

a) 1973 b) 1975 ¢} 1981 d} MK

The leader of “Chipko Movement™is

) Sunderlal Bahuguna by Medhn Patkar

¢) Vandana Shiva d) Mahstma Gandhi

Which of the following is the source of Fly-ash?

a) Vehicular exhaust b} Sewage

¢} Thermal power plant d} All of these

The permissible range of pH for drinking water as per the Indian Standard i

a) ot b) 6.5 w0 8.5

c) GBS di65 73S

Water logging is a phenomena in which

a) Water patterns are rotated

b) Soil root zone becomes saturated due to over imigation
¢} Erosion of soil

d) Soil degradation

Carbon content is higher in

a) Living mater b Soil

e} Water d} Ammosphere

Springs means

a) Surface water b) Atmosphere water

¢) Both (o) and (b) d) Ground water

Bio-remediation means deliberate ly mtroducing micro organisms 1o break pollutants,
a) Soil b) Waste water

¢) Ground water i) Both sotl and groundwater

Version-B -2 of B




1.

2z,

3.

25,

26,

7.

3.

1.

33

M.

In geosynchronous orbit altitude of the saellite 15 ah

np 36,000 kms
@) 50,0000 kmns

B.LDE. ASSOCAITION'S

VACHAD & PITAMAHA
DR, P aTTI
coe,r | HEERMECIVSY

sl IBALL, fALIAPUR.

by LEO00 kms
d) Nage of these

The Air [ Prevention and Control of Pollution ) Actwas enacted i the year

a) 1987 b} 1981

c) 1] dp 1958

Kudremukh lron are mine, Kamataka was closed due 1o

a) River pollution and threat to odversity

b) Land encroachment
¢) Radioactive hagards
d) Senous health hazard

On the eve of Gandhi Jayantln which andolan was launched by our Honorable Prime

M inister
) Swedesh
¢} Suvamagrama

b} Sarvashikshana Abhivana
d) Swach Bharath

An intemational mgreement signed in the yéar [987, o potect simtospheric ozone is

knawn as
a) Montreal protocol
¢} Earth stpmmi

b} Kyoto protocol
d) None of these

The explosion of First Atomic Bomb was done in Hiroshima and Nagasak in

a) 1946 by 1986

c) 1945 d) 1947

A dangerous pesticide which has been reported to cause physical deformities to people of

Kemla and Karmnataka stmes
a) Endosullfan b Fluorsdes

Visible porton of EMR mnges betweean
a) 0.4 - 0.76 pm by 10.5 - 12.5m

Data representation in Raster data is by
a) prxel
¢} lntitode and longitude

In water treatment, alum s used for
a) soflening &1 .:uthllaHiDH

cDDT d} Dioxygene

d) MNone of these

ch B - 140 pm

b} points, lines and polygon
d) none of these

¢) filtrution d) dismfection

Among the fresh water avairlable in the earth the percentage of surface water is aboul

a) S0
g) 5%

Hepatitis is caused by
i) Protowoa
¢} Bactena

In Indwa groundwater resources are rch m
a) Plains of nver Kaven and Krishna
¢) The Crangenc plams

by 1%

d) less than 1%

b} Virus
d) Fungus

b) The Deccan platcau
d)} The plams of Netrmvat and Kapila

The required ron content in dnnkmng water as specified by BIS is

i) 300 gl b) 30 mg')

c) Imp dj 030 mg!

Version -B -3 of 8

39



IRCIVEY

35, Molasses from sugar industry is used to generate

a) Biodicsel b} Hydrogen

¢} Bioethanol d) Biemethanol
6. Wind Farms are located in

a) River basin b) Plain arca

¢} Hilly arca d) Valley area
37.  Biomass consists of

a) Lignin b} Hetm cellulose

¢) Cellulose d) All of these
8. Natuml gas conmms

g} Carbon dioxide b} Hydrogen

¢) Methane d) Nitrogen
39.  Anti tobacco day i mentioned on

a) 31" May b} 30" June

€) 31" July d) 31" August
40. Population explosion will cause

a) Socio-Eeonomic Problems b} Food Scarcity

c) Energy cnses d) All of these
41.  Which of the following element make e-waste hazardous in nature”

a) Land b Gilass

e) Plastic o) lron
42.  What is the hazardous pollutant relessed from batteries?

o) Amsenic b} Barmum

c) Cobalt d) Codminm
4).  What is the term used for reuse of sewnge shudge?

a) Compost b1 Solids

¢} Biosolids d) Sludge

4. Reduction in brightness of the famous Taj Mahal is due to
@) Global warming b) Air pollution
¢} Ozone depletion d) Afforestion

45. E.LA. can be expanded as
a) Environmentand Industrial Act
¢} Environmental Impact Assessment

b} Environment of Impact Activities
d) Environmentally Imponant Activity

46. Organic Farming 15
a) Farming without using pesticides and chemical ferilizer
b} Enhances biodiversity
¢} Promaotes soil biologieal activiry
d) All of these

47,  Buwo-remediation means the removal of comtaminants from
a) Soil b)) Wastewater
) Groundwater d) Both soil and ground water

Version =B -4 of B
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Plants use gas for photosyothesis. _

a) Oxygen b) Methane

¢ Nitrogen ) Curbon dioxide

What is the maximum allowable concentrationof fluorides in drinking water?
a) 1.0 myl b) l.25 mg/l

¢y 1.50 mgf d) 1,75 mpl

Forest rich arca in Kamnataka 15 found m :

a) Western Ghats b} Bandipur

¢) Magorhole dy Mangalore ™

“Minamata Discase”™ 15 caused duc to
a) Lead b) Amsenic ¢} Mercury dj Cadmium

Altemative eco-friendly fuel for automobiles =
al Petrsl b Dhesel e) CMG d} Kerossne

Population explosion will cause

a) Biodiversity b) Stress on ecosystem

¢) More emplovment d) None of these

Which of the following is having ugh population density™

a) India b} China c) USA d) Westem Europe
Demography 1s the study of

a] Animals behaviour b} Population growth

¢) River d) None of these

Forest are ¢alledns ,

a) Air purifier h) Earth’s lungs: ¢} Oxygen reservoir  d) CO: absorbers
Which of the following is the factlity that the urban-peaple enjoy”

a) Better quality of air b} Befter communication a0cess

¢} Large land at cheap mtes d) None of these

Which of the following is an air pollutant?

) Carbon dioxide by Oxygen

¢) Mitrogen d) Particulate matter

Cvolo toxic andexpired drugs are dsposed of by
a) damping b} sutoclave
¢ ) Imcineranon d chemical dismfection

The colour code of plastic bag for disposing of microbial laborsiory culture waste

i) Bluck by Rad

¢} Blue d1 White
South Africa is loading exporter of which muneral?

a) Copper b Diamond
¢) Silver d) Gold
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The word ‘sustainable development’ came into existente in the vear,

a) 1992 b} 1978 c) 1980 d) 1987
The other word of landscaping is

a) Reduction b} Restoration

) Removing topsoil d) Restore

Cloud seeding with silver wodide 15 based on the

a) Bergeron process b} Collision-coalescence process
¢} Both a and b d) None of these

Environmental pollution 1s due 1o
2} Hapid urbanization b Deforestation
) AfTorestation diaandb

The hquid waste from bathroom and kitchen is called

a) Sullage b} Domestic sewage
¢} Storm water d} Runoff

BOD means

) Biochemical Oxvpen Demand b} Chemical oxygen demand
¢} Biophysical Oxygen Demand d) All of these
Which of the following source 15 surface water?

i) Springs b Streams

¢) Deep wells d) Alloflthese
Which of the following is biodegradable?

a) Plastics b) Domestic sewage
¢) Detergents d) aand ¢

Blaning sounds known 1o cause

o) Mental distress b1 High cholesterol
c) Newmologcal problems di All of these

Eutrophication is

a) an ymproved quality of water in lakes

W E process 1n carbon cycle

¢) the result to aceumulation of plant nutnents in water bodies
d) a water punficalion technigue

Primary comsumer is
al Herhivores b) Camivores
2] Macr consumers d§ Chimmivores

Which among the following is & ¢limatic factor?
a) pressure b} humedity
¢) lemperature d) all of these

Briodiversity can be broadly classihed into how many types?
a)y2 bi ¢)3 di4
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Hot spot areas have

e
a) Low density of biodiversity bi Only éndangered plants
¢) High density of hot springs dj High density of biodiversity
About s of the eanth’s surface is covered by water
a) 53% b) 19% g) T1% d ) 95
Deforestation means
i) preservation of forests b} destruchion of forests
¢} monocrop cultivation d) agriculture

When did National Disaster Mansgement Authority formed?

aj 2004 b 2003 ¢) 2010 dy 2015
Disaster 1s an even! ansiagout of

a) result of hazard event b causes of hazard event

¢) causes of disaster event djyall of these

The scientific sudy of carthgquake is called

a) sersmiograph b) sesmology

c) both aand b d) none of these

World Environmental day = held everv vear on

u) June 5 b} October 2 c) Apnil 22 d) November 1°
Ozone laver thickness is measired in v

a) mm b)em ¢} Dobson uni dj Db

First of the major environmental protection acts to be promulgated m India was

n) The Water Act b The Aar Act

¢) The Environgment Act d) Naise Pollution Rules

Blug baby syndrome is canses due to

n) Manganesc b} Ozone ¢} Silver d} Nitrate
World Earth's day is annually celebmied on

a) April 22™ b June 5™ ¢) Junuary 1° d) May 1"
The most important foel used by nuclear power plant 1=

a) L-235 by U238 ¢) U-245 dj L-248
Which of the following is & bwotic samponent of coosystem”

a) Fungi b} Solar light

¢) Temperature d ) Humiadiny

Abiotic component inc ludes

al Sail b Temperatun
¢l Water d) All of these
The word “Envapsament” 1= denved from

a) Greek b French

¢} Spanish d) English
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90.  Which of the following is absorbed by green plants from the atmosphere?

1) Carbon dioxide b) Water

¢) Nutrients d) Allef these
91.  Which of the following 15 4 possible producer i on ecosystem™

a) Animal b1 Plants 2) Human bemes d ) Fish
91, The largest reservorr of mitrogen i our planet 1s

i) Croeans b} Bussphere ¢) Atmosphere d) Rivers
93, India has the world's largest shage of which of the following

a) Manganese b} Mica ¢) Copper ) hamonpd
04, [Identfyv the non renewable source af energy from the followmg:

1) Coal b1 Fuel cells ¢) Wind power d} Wave power

95. Which of the following terminologies 15 notl sssociated with the vertical structure of

fores?

a) Canopy b1 Understory ¢ Forest floor d) First floor

96. Which of the following is couse of class ofbiodiversity”?

a) Habrtat degradation
¢} Pollotion

b} Invasion of non-native species

di All of these

97.  Adr pollution from automobiles can be controlled by fitting

a) Electrostatic precipitalor
¢) Wet callector

b) Cyelone separator
d) Camlvtic converier

98. ‘When the solid waste consists of large ameunt of orgamic matier and if the muosture
content is high, which of the following methods of reatmentwill be ideal”

n) Compostng
i) Incineration

b} Palletizing
d) Becveling

¥9. Chemobyl Nuclear Disaster ogourred in the vear

n) | 954 b) 1985

¢} 1986 di 1987

100. The pnmary cause of acid mm around the woarld s

a) Carbon dioxade
¢) Carbon monoxide

b} Sulphur dwoxide
d} Orone

L
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Fifth Semester B.E. Degree Examination, Jan./Feb, 2023
Application Development using Python
Tume: 3 hrs. Max. Muorks: 100
" Note: Answer any FIVE full guestions, choosing ONE full guestion from each module,
2
g Module-1
3 1 a Listthe salient features of pythen progromming language (04 Marks)
4 b.  Explain the math operators in python from highest 10 lowest precedence with an example for
3 each Show steps to evaluate (5— 1) =07 = 1003 = 1) m python {08 Marksi
_ E € Wrre a program 1o find the sum of all odd and eéven numbers of n elements. Here skip the
5.5 numbers which are divisible by 3 (08 Viarks)
F.g '
<
£ 5 OR
E e 2 a Cive one example for each of the operation below in python language
= £ 1} String concatenation and replication
E g n)  Read mput and display {10 Marksj
2E b,  Explain’
5t i) Def statements with parameters
fg i) Return values and retumn stalements with an example (10 Marks}
E3 Module-
aE 3 a  Discuss the differont ways of troversing a list. Explain cach with an example. (10 Marks)
¥ b,  Write a python program that sllows a playver o guess o secret munber within 6 chances. The
T:: - code that lets the plaver énter a guess and checks thit guess is right or not by printing
£ _g appropriate message. List of numbers are taken as an input from the wser {07 Marks)
.'.E- & ¢, Write a program to demonstrale the useé of prefty function. 03 Marks;
E
F om
it oR
g 4 a Compare list and dictionary data structures with respedt 1o python Ringuage, (04 Murkos
g £ b.  Wrie a program in python that counts. The number of Occurrences of each letter in 3 string.
E -.% [isplay the results in column fashion (8 Marks)
. _E ¢ Write the string method syntax in python 1o perfom below operations
e i) Remwving white space characters from beginning, end or both sides of 2 string
g i) To right-mustify, left-pustify and center a string (08 NMarks
Iz :
£ D 5 a List out the different characier classes Give represemanon. regular expression symbsals,
s fl example and meanings for each ¢haracter class {10 Marksi
= b, Describe the following with suitable python code smippet
3 i) CGireedy and Non Greedy pattern matchmg.
E i) Fmdalll » method of RegeX object (10 Murks)
£
E
| of2
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OR
Write @ python program o rename the filename  contains American stvle dates

(MM - DD - ¥YYYY) to European style datez (DD - MM - YYYY) in the working

directory, {10 Marks)

What are Assertions i python? Explain with an example. (5 Marks)

Explain the file reading and writing process with suable pyvthon program. {05 Marks)
Module-4

How objects are mutable by nature justify with an example? (04 Marks)

[hiscuss the methods tsinstancel ) and hasatirf ) with suitable example for cach, (06 Marks)
What 15 operator over loading” Write 8 program 1o add two poinl objects by overloading +

operstor. Also, overload - str— () to display point a5 an ordered pasr 110 Marks)
OR
Define Inheritance. Expluin with an example (06 Marks)

Brietly discuss the impaortance of - -init- - ) and -- st - { ) methods in python. (04 Marks)
Demonstrate the polvmorphism 1o generate istogram 1o count the number of 1mes each

letter appears in word and in sentence {10 Marks}
Module-5
Amalyze the steps involved m downloading and saving web page on to local system along
wilth program {06 Mirks}
List any 4 C88 selectors of bsd module. Using Beauuful soup passel, retneve all of the
paragraph tags m the web page www amazon.com. {6 Marks)
How selenmum module 1s useful 1o deal with web pages. What methods do it uses 1o simulate
mouse chieks and kevboard keys? {08 Marks)
OR

Write a program to read the census data from the excel spreadshect, count the number of
census fracts in each countrv, count the total popolation of each country and primts the
resulis

9841 | D6075010500 | CA | Sanfrancsico | 2685

G842 | DBO7S010600 | CA | SanFrancisco | 3894 |
9843 | DEOTSOI0TO0 | CA | SanFrancisco | 5592 |

|| Censustract | State | County | POP201O0 |

(1 Marks)
How' to zip the files and olders. Demonstrate with one example. (04 Marks)
Write a script that will go through every PDF in a folder and encrypt the PDFS using o
password provided on the command line. Save each encrypted PDF with an-encevpted pdf
suffix added 1o the ongnal filename. (U8 Marks)
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Fifth Semester B.E. Degree Examination, Jan./Feb, 2022
UNIX Programming

Time: 3 hrs, Max, Marks: 100
Note: Answer any FIVE full guestions, shovsing ONE full question from eack wodule,

| 1
1 a. Compare intemal coramuands and external commends. files and Procosses (0 Mairkos |
b.  Explain all the features of UNIX operating svstem, (i Marks)
e Write the output for the Sllowing commands
1 cal 1O 202]
it} date +*%D8T"
i} type echo
v passwd
vl whao, (T Marks
OR
2 a  Explan the different categories of files with examples 116 Marks)
b. Descnbe the parem child relationship m UNIX file systom and differantiate shsahe
puthnames with relan ve path names. (6 Marks
c. Write the description for the following command-
1} mbdir college college 1SE callepe/CSE
iy mV {C £C §C cprogs
ih if my pwd s bome ravi‘progs then ©d -
vl s—| 1 we-
| op fi f: {1 files
vil mm~ 1 whapl
VL) et == testixt
v} mdir college 1S5 OE Marks)
v e=1
4 o Explaim all the optites of s commands with exarples 1006 Markay
b, Consider o_file testrxt with defiuit PErMiSsions @5 — TW - £~ - T — —, grml execuls
pemuission . do. owner. write ond | execute permission Lo group members amnd execule
permission to others using both relative and alsolats approachis fiks Marks

€. Write the output for the llawing commands,

1l ep ?T?? progs

t) rm "chaps'

1) mV & [IC]['PIIP] progs

iv) oot *ixt | wié=o

vl epchap[ - 1) (5 Mary)
d. Explain the grep command with af its options 05 Marks)
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OR ;
Write o program 10 read pattem and filename Fom the wser and search the patiera in 1he
given file. g {13 Mariy)
Weite the putput for the following comimands
) grep “Aml” std-lst ] echo “pattern not found”
) test 8x — gt Sy
i) [-Z Ssig]
w) [-r Shle]
¥) [! nSstg) (15 Marks)
Explain all the looping statements witl:syntax. (06 Marks
Wate a shell script 10 read multiple patterns from the command line and search these
pattemis in the given file which isalse read from compand line by using shifi commund,
[EX. Command [:ne argumenis-gs below #xscriptsh paty pat; paty paty pats). (04 Marka)

Explain the General File AP1's openi ), readi 1. write( ). fseek( ) with their pretotype

01 Marks)

Describe the memary lavout of a C program with a diagram and explain memory allocation

APT's with their prototypes. (10 Marks)
OR

Explain setpmp and fongimp. getrlimit and setelimit functon with examples. {10 Marky)

Besenbe how the process is creuted by using forki ) and viorkl 1. List out the pronertics

mheritcd Tom the parent when the child process is created” {10 Murky

iy

Module-4 w

Explain the implementation of systern fanction wsim 2 tork( ) execl & waitl ) AP]'s.

(10 Mari)
Define pipes, write a program w send data from parent Lo child using pipe API and also s
its limnitations, {10 Mk

OR

Define semaphorss and explain how the IPC s wiplemented using varous semaphore
API's. {10 Marky)
Explain the implementation. of shared memory IPC mechanism with all its API's and thels
Proforypes, 110 Marks

Define signal and list the actions tken by 4 procesy when the signal is mised. Explain the

“nal APFs signali ), sigsel I sipaction] ), {19 Murks)
Explun how Kill APl s used for sending a signel ty 2 process wnd exalain the
iplementation of sleep APL using alarm APL (10 Marks)
0OR
Difine the Deemon process, Explam all the coding rules to be followed while coding o
duemon process L0 Munrky)
Worate o note on idterval tumer. (0% Marks
Explain the BSD sysiog facility for handling Dacmon: STLT IMESSAPCS. (1S Marks)
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